es-atom!H40

i a

=qef Trans(i):k:Knd—kindtype(i;k)—es_state(es;i)—es_state(es;i)||a
& Send(i):k:Knd—kindtype(i;k)—state@i—(Msg List)||a
& Choose(i):b:1d— N —state@i— (?kindtype(i;locl(d)))||la

clarification:

es-atom(es;i;a)
=q4ot free-from-atom{1}(k:Knd—es-kindtype(es;i;k)—es_state(es;i)—
es_state(es;i);es-trans(es;i);a)
& free-from-atom{1}(k:Knd—es-kindtype(es;i;k)—es-state(es;i)—
(es-Msg(es) List);es-send(es;i);a)
& free-from-atom{1}(b:Id— N —es-state(es;i)—
(es-kindtype(es;i;locl(b)) + Unit);es-choose(es;i);a)
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